
MATERIAL LIST

DRWG NO. REV. GID

ASSY NO.

TITLE

APPROVALS: DATE REV DCN NO BY CHK DCC DATE

DRAWN:

CHECKED:

APPROVED:

DCC RELEASE:

CALIFORNIA INSTITUTE OF TECHNOLOGY
MASSACHUSETTS INSTITUTE OF TECHNOLOGY

SHEET 1    OF 2

C. Conley

Cavity Beamdump Installation (Hanford)

6-30-99 A E990268-00

D990436-A

  D990230
REF. QTY. PART No. DESCRIPTION

1 13 D990143 Mounting Bracket Assembly

2 4 D990141 Housing Assembly

3 12 D990094 Cavity Beamdump Assembly

4 24 McM-Carr
92186A630

3/8-16  X  1.75  Hex Head Screw

5 12 McM-Carr
91950A031

3/8  X  .06 thk.  Flat Washer

6 12 U-C Components
WFV-38

3/8  X  .032 thk.  Vented Flat Washer

7 2 D990402 Housing Assembly

8 2 D990206 Plate Beamdump Assembly Offset

9 8 McM-Carr
93615A410

1/4-20  X  .50  Low Head Socket Screw

10 16 McM-Carr
92141A029

1/4  X  .045 thk.  Flat Washer

11 1 D990414 Housing Assembly

12 13 D990197 Flex Support Assembly

13 5 D990403 Housing Assembly

14 3 D990253 Plate Beamdump Extension Tube

15 6 D990207 Plate Beamdump Rail

16 12 McM-Carr
92196A245

#10-24  X  .75  Socket Head Cap Screw

17 12 U-C Components
WFV-10

#10  X  .032 thk.  Vented Flat Washer

18 12 D980685 Plate Beamdump Clamp
LIGO Form ML-01 (10/96)



MATERIAL LIST

DRWG NO. REV. GID

CONTINUATION SHEET

TITLE

REF. QTY. PART No. DESCRIPTION

CALIFORNIA INSTITUTE OF TECHNOLOGY
MASSACHUSETTS INSTITUTE OF TECHNOLOGY

D990436-A

SHEET 2    OF 2

Cavity Beamdump Installation (Hanford)
19 12 McM-Carr
92196A144

#6-32  X  .25  Socket Head Cap Screw

20 12 U-C Components
WFV-06

#6  X  .016 thk.  Vented Flat Washer

21 3 D990218 Plate Beamdump Glass

22 2 D990238 Plate Beamdump Assembly

23 8 McM-Carr
92196A540

1/4-20  X  .75  Socket Head Cap Screw
LIGO Form ML-02 (10/96)


	Cavity Beamdump Installation (Hanford)

